
======================================================================================== 

● ● ●

Fig. 2 

Fig. 1 

10103 – MOD rack small Platform 

Installation Instructions 
Kit Contents: 

Item Qty Item Qty 

Platform Latch Assembly 4 3/8” x 1” Hex bolt 16 

10603 Platform 1 3/8” Nyloc nut 16 

1/4” Lynch Pin 4 3/8” USS flat washer (used for both 3/8” and 7/16” bolts) 32 

Installation Instructions: 

1. Prepare the platform by attaching the quick-release latches.  Attach a latch to each of the four mounting

locations in the corner plates of the platform using four 3/8” x 1” Hex bolts, eight washers, and four 3/8” Nyloc

nuts per latch as shown below in Figure 1.  Place the bolts at the outer corner slots of each rectangular

mounting slot pattern.  Install the hardware, but do not fully tighten at this time.  Tighten the hardware enough

to hold the latch close to the platform corner plate, but loose enough to slide around slightly.

2. To prepare the platform and latches to be lifted

onto the rail, you may find it beneficial to swing the

silver latch hooks all the way out and screw them

against the latch handle body until they stay in

position (Fig. 2). By tightening the latch hooks

against the latch handle (screwing them in by

turning clockwise), you prevent them from dangling

and getting in the way when setting the latches on

top of the rails.

https://www.carid.com/warrior/


======================================================================================== 

● ● ●

Fig. 3 
POSITION HOOK IN 

RECESSED NOTCHES ONLY 

Fig. 4 

3. Now carefully position the platform on

the sub-frame rails.  The latches should

still be slightly loose allowing them to

move slightly so they may correctly sit

on the rails.  Position the platform on

the MOD rails so that the latch hooks

engage with the recessed notches in the

MOD rail cutout as shown in Figure 3.

(DO NOT CLAMP THE LACH HOOK ON A

RAISED TAB OF THE MOD RAIL

CUTOUT!!!  CLAMPING ON A RAISED

TAB WILL NOT ADEQUATELY SECURE THE PLATFORM!!!)

4. Now evenly position the platform and clamp the latches onto the MOD rail.  You can adjust the tension of the

latch by un-clamping the latch and screwing the hook in or out of the latch handle.  Screwing the hook in will

make the latch tighter and unscrewing the hook will make the latch looser.  Adjust the hook at all four latches so

that the latch handle will close with some resistance (you do not need to overtighten the latches).

5. Once all four latches are clamped down, make sure the platform is square and centered on the MOD rack sub-

frame.  After centering the platform, tighten the sixteen 3/8” bolts attaching the Latches to the platform, but be

careful not to move the platform out of position before the hardware is tight.

6. The final installation step is to install the secondary safety on each latch.  Lynch Pins have been provided (please

note that they are not long enough to pass through both sides of the latch).  You may use these Lynch Pins to

prevent accidental opening of the MOD rail latches.  You may also choose a bolt and nut combination if you

prefer, or even long-shackled padlocks for increased security. (Fig. 4)

7. Double check that all hardware has been tightened.  You may now enjoy your new Warrior Products MOD rack

platform!  You can position the Platform anywhere along the MOD rail, or even leave the Platform at home in

the garage while not in use. With the platform removed, the soft top can be opened or closed without removing

the sub-frame by folding it between the side rails.

Discover a comprehensive collection of roof racks and cargo carriers on our website.

https://www.carid.com/roof-racks.html

